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19. Eddie saved

30%
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Ehan

Fred.

Seorge
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30% less than EBddie. Bxpress George’s saviogs as 3
percentage of Fred’ s savangs.
(1) 40% {2) 49%
(3) 62.5% (AY T70%

11.  20% of the 400 bkallis in a2 wox are red. 100 more red
balls are sdded to vhe bLox. Wnat percentags of the
balls in the rox 1s red now?

{1y 25% () 36%
{3) 45% {4y 643
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A plece of wire ig benc into tha Ffaigure shown below
~ Q 1s the centre of the seni-virvrcle. Find tho langoh
of the wire used. {(Take n = 3,14}
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Questions 16 to 35 carry 1 mark cach., Write vour answors

in the spaces provided. Give youx o the anits
scated. {Totzal: 20 morks)
6. 200 — (40 + Z0Y x 100+ 120

17. Jacob has $1&%. Sanwel has $3 lesz. Theiy wmether
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30 om by 15 cm. ¥ind the area of
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20, A bholater cost §3 movye than a piillow, M» Samy bought
LY af sach cype and paid a tebal of #1w0, How much
did he payv for each pilliow?
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3 -
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ANswWer: . {

—r—— ~




vy
o

SR

The table belaow shows the
a shop.

1 to T3 Cos

|4 to 6 CDs o B $7 pex
J to 8 CDs 6 per
{ 10-CDs or more §5 per D
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26, A car travelled 35 km in

in 3: hours. finad it

e

journey.
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hour and anothexr
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Answear: Iy
i
27. The smzaller zngle is — Lthe size of tne bigaer ons.
Al
Whal is the siza of ths bivger angle?

S
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28. The figure bhelow shows two guadyrants which ovorlap
gach other. The raedius oif sach quedraat is 1i cm.
Find the area of the shaded part. Leave wour answe
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The pie chart pelow ghows the number of sbudents in
P 6A who nave completed the various tyres of tests
from the webzite PSLEZgo.com. Study it 2nd answvex

T

questions 2% and 30.
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For questions 356
space helow. each
space provided.

to 50,

question and write

The number.of marks available is
the end of each question ox pari~ques

3]
i
-

inter-school sccoer touwrnament.

show your working
your

5
5%
73
r
'_‘

The “table shewed the wvoals scored by Team %¢2

ciearly in
answers in

in orackets { ] at
on.
Toltail:s 55 markss

: i ) C | )
.Number of goals -0 { X 2 g 2
. ; - -
—m . — z
;Nunber of matchss 2 ; 3 4 i i
i - ——— 1 eam— _— X
What was the average score of XY¥YZ team? -
Answer: _ i
- - \ M 1‘ x - k- “ ~ -
37. itle figure .ghown below is made up of 7 identical

‘guadrllaterals and az shaded

:;, the ghaded veglicn.

3cm

N

Jom
, Pl
o ’ ~
s &
.Y/ ]
Sl
1 om ' _ -\
L- AU R - '\i O

et

reglon,

of

tirnd it

4]

slea




$38

(v o

e

(s
2
3

P

wn

o
P

™
s

S0

“
RS

ja)

7

rird the

Lzave voui

a
i
a

f7}

Y

m
i

o~

RS

e

s

SqA3

<
Y

= S e
i
r- H
C 3 i
?
i3
\
t
Y
e

ve of

T prvintter rrints ot
i ¢ smeconds.,

hove?

{Eom

Anseer:

1

a

cans bt ant

How many Copits can

rate of 10

5

Q
’.J\-
[
jo3
;
Q
[
o)
~r
5]
0/
M
~{
v
7]

B P ——

~

Jam—
)

o]

o)

it print

——



q1.

Ahmad and his sister esch has a sum of mouney. When
Ahmad gives $120 to his sister, he has 3 times as
riuch money as his sistay. When Ahmad glves another
540 to his sister, he has $240 wmore than nik sistar.
How much money does- his sister have at first?

o EEE L L Rasuky:

0.6 .of ‘Mary’s-marks 1ig the sans @ as.
“Raja’s. What .ig the ratic of Rata’s mazgd
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The figure below is made up of o uguare ABCD and hwe
rhorbuser ATDP and LRBY.

Siven thar LBVD = 135° and AT = BR, £3nd
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The figure below iz made ugp of vne hig clvcle, btwo
identical medium circles and twoe ideuvtical swall
circles. The ratio of bthe radius the small
s 2 O 3.

ay " What is the btotal area of the unshaded gortions
in the figure?
Give your enswer in terms of w0
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A brgidad 2ice with ecual chances nas the numbers
2, 3, 4, 5 ano & written on
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The product of the ages of 2 Nanyang FPurimary Scheol
puplls is (93, Express the awe of ths youngest
pupil-as a fraction of the sum of the othsyr 2 puplls.
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45. fanny had

.

o0

f 150 hairclips and hneadbands.

I\

O
sther 50 more heirvciins and gave away

2

of  bher  hzadhands. The npuwber of  bhaxvclips and”
headbamng bhoegame the same after that. Wirat was the
ratie of the nuawbhetr of headbands to the number of
halkrclips an £izs¢?
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A tank measuring 30 cm by 20 om by 27 om contained

10.224 litres of water. ' & sures of Tnhns came sizae

were  placed ince the tank angd che water level

2. - _ -, -
to-g.the height of the tank {(as shown i Ligure A,

(2) Find the xolume of a cub

0]

(b} The -cubes were then re-arranged to form the

. solid ficgure as shown .in figure B. Hov fav is

" the top of the solid figure away TFrom the watsr
surface? )
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tal, Xavier

A s 0F neney wad shared by 3 boyve, Weiws
3% of  whal Xavier

and Vishen. Nelwel received 1

recaived plus £5. Yiehen received -— of what Weiwel

raceived - plus  $4. Wishen vyecsivad $8  lesg  Lhan

(a)  ®hat pevcentage of the gum o money
recaiva?

d id 'We i WS j—

{bY How much would Xavier hdve ©o give £d Vi

that ootk of them have the samne amount of

Enswer: a) o 37

b) HE
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49 N

M Lee and Mr Tan both Qrove fraoa Tovn X bo Town Y.

Mr Lee started his deurney at 20.00 a.m. travelliag
at an average speed of 75 kwmih Some [ime later, Mx
Tan started his joviney. At 12.00 noon, Mr dan
overtook Mr T.ee. Whan Mr Tan resachsed Town Y at

'«

2.00 p.m., My Lee waz still 50 kn from Towa Y.
Find (a) Mr Tan's average speed,

(b)  The time at which Mr Tan starced his

7
Jjourney.




0. Study The {ollowing patterns to snswer the
questicns.

B

Figors i Figurs 2 Figure 3

{a} Cemplaite  the tollowing table ko
anknpowing 3 and B.

Lthe

R 2 L4 0 10 |
1 I ? |

%
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(b Show it workings the number of Hots
15 e '

for figure 10.

Answer: (&) (1)

-
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